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SHeFS 98t
s (Sr9: &)
S - I BR(S) - AIRAR - Bl Lo Cva] il mE2t
ZH 8,936,786 3,959,795 4,976,991
= 3,337,730
= 60,000
= 5,539,056
&S It Jgtx 2,461,790 3,341,533 AB79,743
= 107,730
S 2,354,060
o 2R 110,600 0 110,600
S N 110,600 0 110,600
203 g2 =& 40,600 0 40,600
03 A& 40,600 0 40,600
OMZRa ¢d 40,600
207 A=K 70,000 0 70,000
01 g2E | 70,000 0 70,000
OMEZE 70,000
A 29 44,460 42,100 2,360
NREA 28 243 44,460 42,100 2,360
201 £Eh=EH| 13,100 15,500 A2,400
01 At=2teld 8,100 10,500 A2,400
Oget+=SH 4,050
O=EH] 4,050
03 &A=& 5,000 5,000 0
ONEREAL 232 ¢ 28 S 5,000
202 O 18,360 20,400 A2,040
01 2] 18,360 20,400 A2,040
O=LHHbI 18,360
203 g2 =& 10,000 3,200 6,800
03 AlZ=&IH 10,000 3,200 6,800
ONSEA 10,000
301 et A= 3,000 3,000 0
09 HAtAIHI22 3,000 3,000 0
ONSFEA 24 S 3,000
NEEA 2el 2,288,230 3,299,433 A1,011,203
= 107,730
= 2,180,500
HAANEE B 269,180 615,000 A345,820
206 TH2H| 15,000 15,000 0
01 W=l 15,000 15,000 0
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S AR
B SUMRS 98 J|BEL (YD DHE /L)
Sl ASEA 22l (& A&)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
OFA AlE2t2] Mg 7L 15,000
401 AIEHIZL 2L 140,000 148,000 A8,000
01 A&t 140,000 148,000 A8,000
ONXSEA QA SHUHEX SA 140,000
405 XHoHESHI 114,180 452,000 A337,820
01 At =2 SFSHI 114,180 452,000 A337,820
OEAM &d0lst EAD| s 7L 24,180
OREd HMAZTX F 60,000
ONMSZA BIRA SHEX AIRED| 7 30,000
FArel 28 X 1,690,416 2,581,690 ABI1,274
101 QI244| 59,008 0 59,008
04 JIZtMI22 RS E= 59,008 0 59,008
ONEHA HARA(EAZZX & 59,008
o JlE= 2,028,930 x2Hx12& 48,695
o BEZOYI 800
o AXtrH 2,004
oxgYzEzg 1,604
o III=H| 400
o B8g s 5,505
201 B2 | 1,607,698 2,557,790 A950,092
01 Ar2t2ld| 443,224 366,500 76,724
Oget+2| 84,660
O=&t| 9,180
Os2HA iz 340,000
OSASHAIAE dXtZ 9,334
02 2322l 1,164,474 2,191,290 21,026,816
O3=2a ¥ HA 741,824
OEM2ZZH| 230,000
(@INF=FS{s1E=IN ]| 192,650
202 44| 19,710 21,900 22,190
01 =W 19,710 21,900 22,190
OFE M| HRFA 19,710
203 AR F=&IH| 4,000 2,000 2,000
03 Al FRIH R FEIH| 4,000 2,000 2,000
OE M| HRFA 4,000
HAEA 22| 838,904 102,743 A13,839
101 Cl24b| 83,904 75,743 8,161
04 JI2tNI2=2NESE s 83,904 75,743 8,161
OFaae| 212y 83,904
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2H: AR
HM: WHSAJHI(MRFM)(DIE/IIE)
gl J1=2 3| (cHl: e)
A - Z2 - HRA(ZH) - NRAY - BAS 04 &k ot ﬁgg HImZ2
01 HMSHR=HZH| 27,000 0 27,000
OXHUZARL A 27,000
IR ] 842,996 0 842,99
EAIZL HEESRH 842,996 0 842,996
101 @1244] 842,996 0 842,996
03 RIAHAZZ2 A2+ 842,996 0 842,996
OFAL AlEZH 222 (8Y) 331,110
o JlE2= 2,326,6903+8H+12& 223,363
o MRHAY 120,000&+8H+12& 11,520
o Aixt==H 81,537&+8H*152 9,785
0 OF2tag 10, 192840 5+730A1 282 29,761
0 AI2t2|2R=E 10, 192 *1.5«120 A1 2H+<8H 14,677
0 EY2ELY
10,192& %1 5% 17 *BAI2H+6H 12,476
o BEFIHI 2,326,690&*0.5+25|+x8H 18,614
0 JtE= 4,560,000& 4,560
o &ktz BX 468,300 142 1,874
olll=H| 1,600,000 1,600
=28+ 2,880,000& 2,880
OFA HAR(13) 420,578
o Jl2= 2,071,1803x13Z+12& 323,105
o HR&HA*E 140,000 x 13+ 12& 21,840
o Aixt=H 74,0033 *13H+15& 14,431
05L22 4%
9,250 %1.5%12*BA| 2t 13H 17,316
o SEFIHI 2,071,180&*13& 26,926
o &= 8,640,000& 8,640
olll=H| 100,000&*23|x13H 2,600
o3 ENM = 5,720,000& 5,720
opc2tel 30,388
oJl=s 2,071,180+ 1E+12& 24,855
CESEPSger 1,440,000 1,440
o0d=Ed 440,000 440
oBESIL 2,072,000 2,072
o R==E 1,101,000 1,101
otEE 480,000 480
o4l 2= 60,920,000 60,920
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HH: NeR NSE S

L

A
el gRUSEL A4 X

2 (cHl: e)
i, _ _ N ~
2K - FH - SR(FH) - IRARY - BYS Ofl Akt O ot HIRE2
NN Dt 69,789,934 59,350,360 10,439,574
z 49,344,000
p 2,485,000
5 17,960,934
N2 LT S2AY SE(FELXANL/XSLTAI) 60,579,500 55,158, 100 5,421,400
7 49,344,000
pJ 2,485,000
=S 8,750,500
HESET AL X 56, 150 69,000 12,850
USISET AL 1Y 2Y 26,150 39,000 12,850
201 L2 6,750 8,000 A1,250
01 AlR22H 6.750 8,000 A1,250
Ogeregt| 6,750
202 o1l 14,400 17,000 A2,600
01 =LH0iH] 14,400 17,000 A2,600
OLRUSEE ALY YRF 14,400
203 YL =T 5,000 14,000 29,000
RPNEESSEEESSE] 5,000 14,000 29,000
OLRUSHEE AL APET 5,000
HEWSHE EI|RS X 30,000 30,000 0
201 L2 30,000 30,000 0
03 #AL2 S| 30,000 30,000 0
OLRWSHTTE I3 30,000
oot 2 5,456,500 2,826,700 2,629,800
z 1,700,000
pJ 2,485,000
=3 1,271,500
MU HSALEAL X (Lo CHOI0E 2284 X=4) 1,560,000 2,442,700 /882,700
z 1,200,000
=3 360,000
403 REXISHHISXH201 & 1,560,000 2,442,700 /882,700
z 1,200,000
< 360,000
01 XXX EEE 1,560,000 2,442,700 /882,700
OLdll CHINE 228 x4 1,560,000
z 1,200,000
== 360,000
HTY WA= L SAYF JIEES 3,230,500 357,500 2,873,000
Il 2,485,000
=S 745,500
403 XIS STH20I & 3,230,500 357,500 2,873,000
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S ARUHLD
H: NPA ANEE SN SH(SELXANL/NALTAI)
CHel doford g (cHl: e)
X ol = = 1 E-“;‘_ﬂ_‘l:_ =
A - ZE - SRI(3) - HRAY - BYS 04 b0t 0l rod HIRE
] 2,485,000
=3 745,500
01 XXM =S X 3,230,500 357,500 2,873,000
OHFZ 9= L 24K JIgEs 3,230,500
pJ 2,485,000
= 745,500
QER MYAM x4 650,000 0 650,000
o 500,000
= 150,000
403 XIS SXH20| & 650,000 0 650,000
o 500,000
=S 150,000
01 XEXISHAIXFE B X 650,000 0 650,000
OQER UL =4 650,000
a 500,000
< 150,000
oSN 2K 16,000 26,500 10,500
201 L2 5,400 7,000 21,600
01 Al=22 5,400 7,000 A 1,600
Ogerrgt| 5,400
202 01t 8,100 10,000 A1,900
01 =LH0iH] 8,100 10,000 A1,900
Odolord ¢ e = 8,100
203 PREXL 2,500 9,500 AT,000
RRNEESSIEEESSE 2,500 9,500 A7,000
Odsfora ¢d 42 =X 2,500
ALY MY L X 517,600 4,593,500 14,075,900
a 214,000
3 308,600
HE 2 AT 828 A5 222,000 287,000 85,000
a 214,000
=3 8,000
403 REXISHHIS X201 & 222,000 287,000 85,000
= 214,000
=3 8,000
01 XEXISHIXFE B X 222,000 287,000 65,000
ONZ 2z MT 828 A3t 222,000
o 214,000
= 8,000
SN AKRISH DS ALY 200,000 200,000 0
403 REXISHHISXH201 & 200,000 200,000 0
01 XXISHIXHEEE 200,000 200,000 0
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SA: NEUIHL
HE: M2 AEE SBAY SH(ZELXY XA Al)
Sl MEFARY JHY 2 X (el &)
SN - ZH - ER(E) - NIRAY - BYS 0fl st Cva] ClmE=r;
\ OS2I AFEE DIEXIY ALY 200,000
HEAIY Y 2 95,600 106,500 A10,900
201 YBH2AH| 85,400 87.000 A1,600
01 AF222I| 85,400 87.000 A1,600
OMNENY 28 80,000
OLet=gH| 5,400
202 0t 8,100 10,000 A1,900
01 =LHoAHI 8,100 10,000 A1,900
OMAIY AREZ 8,100
203 AREZAIH| 2,100 9,500 AT,400
03 AIHFEZIGRFZY| 2,100 9,500 AT ,400
OFAY 2T 2,100
XA RE L 54,549,250 47,668,900 6,880,350
a 47,430,000
[ 7,119,250
N EIONEE 13,291,000 15,795,000 A2,504,000
= 13,291,000
403 REXISHHIS X201 & 13,291,000 15,795,000 A2,504,000
= 13,291,000
01 XM= E X 13,291,000 15,795,000 A2,504,000
OXS ML X & 13,291,000
= 13,291,000
2 Q gEXe 4,847,000 5,343,000 A496,000
= 4,847,000
403 REXISHHIS X201 & 4,847,000 5,343,000 A496,000
= 4,847,000
01 AXISHAH=2E X 4,847,000 5,343,000 496,000
OXe%e gEX2 4,847,000
a 4,847,000
CNEENLR N (HBERRA) 2,253,000 707,000 1,546,000
z 2,253,000
403 REXISHHIS XH=201 & 2,253,000 707,000 1,546,000
= 2,253,000
01 XISHHRH=EE X 2,253,000 707,000 1,546,000
OEMEEIHLXIR (HEERIXA) 2,253,000
= 2,253,000
CHABENLR N (SSMERA) 21,419,100 16,787,000 4,632,100
a 19,039,000
[ 2,380,100
403 RFXIEHHIS XH20] A 21,419,100 16,787,000 4,632,100
= 19,039,000
[ 2,380,100
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SM: NSO D
B N2 ASE SAY SH(FELXINL/XALTA)
crel: XA PE N (St M)
. PSIE L =
S - 3 - A (SIH) - MRAY - = Ol kK 01l ko HwWE2
01 TtXIEHMR=E 21,419,100 16,787,000 4,632,100
OSNSEMNLXA(ESAEXA) 21,419,100
s 19,039,000
& 2,380, 100
HEX JIEAIE T (R E) 3,012,000 3,000,000 12,000
= 2,000,000
& 1,012,000
401 AlEHIZ 048I 3,012,000 3,000,000 12,000
s 2,000,000
= 1,012,000
01 Al&HI 3,007,000 2,980,000 27,000
ONEXI JEAILRI 3,007,000
s 1,995,000
= 1,012,000
03 AIES0HHI 5,000 20,000 215,000
ONEXI JIBAIETIA AlLLCHY| 5,000
= 5,000
HEXE JBAIE XA (XIR) 8,000,000 6,000,000 2,000,000
s 5,000,000
& 3,000,000
403 TXISHHS K201 E 8,000,000 6,000,000 2,000,000
2 5,000,000
& 3,000,000
01 XM 2E X 8,000,000 6,000,000 2,000,000
ONBXI JIBAILRIZE-AIZ 8,000,000
= 5,000,000
= 3,000,000
KNEZENY 29X 27,150 36,900 A9,750
201 LBEH2| 9,750 11,000 21,250
01 AtR2elt] 9,750 11,000 21,250
@EIEIER=1] 6,750
OXANLZHSAS| 2 3,000
202 Ot 14,400 17,000 A2,600
01 =LHOHI 14,400 17,000 A2,600
ONARENL 92 £ 14,400
203 AR F=&IH| 3,000 8,900 A5,900
03 AIBZ=RHRZ=AH| 3,000 8,900 25,900
OX=REINY 2L Zx 3,000
HERErd 24X XIAALS 1,500,000 0 1,500,000
s 1,000,000
= 500,000
403 TR SIS AHE201H 1,500,000 0 1,500,000
s 1,000,000

-778 -




A M OONL D
Y NS AEE SEAY SE(SELNANL/RSLEA)
r

=l NGz 8 (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
T 500,000
01 X2 EE 1,500,000 0 1,500,000
Odg=ehd 24X X2AE 1,500,000
= 1,000,000
= 500,000
AR2F=RAL (FLEN) 200,000 0 200,000
403 AXISHHSAH=201E 200,000 0 200,000
01 HRIHHI=ZE X 200,000 0 200,000
OLH0tE 2 SHEISA 200,000
SHE2ALHI(MSOOHZ D) (O1EHDIEH 44,434 80,260 A35,826
J1=23H| 44,434 80,260 N35,826
J|23H 44,434 80,260 A35,826
201 ZetEgy| 33,274 37,260 A3,986
01 At=2teld 32,274 36,760 N4,486
Oget+8Hl S 32,274
02 5= 1,000 500 500
O332= & HAl 1,000
202 O 7,560 9,400 A1,840
01 =LHALI 7,560 9,400 A1,840
OMSOIHE L S22 7,560
203 SR &I 3,600 9,600 26,000
04 FN2EHRFAI 3,600 3,600 0
OMEUIHE L =24 3,600
HRES(MRUNL ) (SEXXISIHL/ XL AI) 9,166,000 4,112,000 5,054,000
E D NE 9,166,000 4,112,000 5,054,000
JUET NS EUNSEY N 28 9,166,000 4,112,000 5,054,000
701 JIEtel S ES 9,166,000 4,112,000 5,054,000
01 JlEl=I A& ES 9,166,000 4,112,000 5,054,000
OBYEEXNSDELHSEIH (D SAL) 2,166,000
OZHG AR LHSES| A (KA ALY) 7,000,000
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